
CHAPTER 14

An Overview of Corporate Financing

Answers to Practice Questions

1.
a.
Par value is $0.05 per share, which is computed as follows:




$435 million/8,702 million shares

b. The shares were sold at an average price of:




[$435 million + $64,693 million]/8,702 million shares = $7.48

c. The company has repurchased:



8,702 million – 7,629 million = 1,073 million shares.

d. Average repurchase price:



$29,352 million/1,073 million shares = $27.36 per share.

e. The value of the net common equity is:




$435 million + $64,693 million + $29,382 million – $29,352 million 




= $65,158 million

2. Internet exercise; answers will vary.

3. a.
The day after the founding of Inbox:

	Common shares ($0.10 par value)
	$
	50,000

	Additional paid-in capital
	
	1,950,000

	Retained earnings
	
	0

	Treasury shares at cost
	
	0

	
Net common equity
	$
	2,000,000


b. After 2 years of operation:

	Common shares ($0.10 par value)
	$
	50,000

	Additional paid-in capital
	
	1,950,000

	Retained earnings
	
	120,000

	Treasury shares at cost
	
	0

	
Net common equity
	$
	2,120,000


c. After 3 years of operation:

	Common shares ($0.10 par value)
	$
	150,000

	Additional paid-in capital
	
	6,850,000

	Retained earnings
	
	370,000

	Treasury shares at cost
	
	0

	
Net common equity
	$
	7,370,000


4. a.

	Common shares ($0.25 par value)
	$   120.5

	Additional paid-in capital
	1,864.5

	Retained earnings
	4,433.0

	Treasury shares
	(2,880.0)

	Other adjustments
	(838.0)

	
Net common equity
	$2,700.0



   b.

	Common shares ($0.25 par value)
	$   120.5

	Additional paid-in capital
	1,864.5

	Retained earnings
	4,433.0

	Treasury shares
	(3,580.0)

	Other adjustments
	(838.0)

	
Net common equity
	$2,000.0


5. One would expect that the voting shares have a higher price because they have an added benefit/responsibility that has value.

6. a.

	Gross profits
	$
	760,000

	Interest
	
	100,000

	
EBT
	$
	660,000

	Tax (at 35%)
	
	231,000

	Funds available to common shareholders
	$
	429,000



b.

	Gross profits (EBT)
	$
	760,000

	Tax (at 35%)
	
	266,000

	Net income
	$
	494,000

	Preferred dividend
	
	80,000

	Funds available to common shareholders
	$
	414,000


7. Internet exercise; answers will vary.

8. a.
Less valuable

b. More valuable

c. More valuable

d. Less valuable

Challenge Questions
1.
a.
For majority voting, you must own or otherwise control the votes of a simple majority of the shares outstanding, i.e., one-half of the shares outstanding plus one.  Here, with 200,000 shares outstanding, you must control the votes of 100,001 shares.

b. With cumulative voting, the directors are elected in order of the total number of votes each receives.  With 200,000 shares outstanding and five directors to be elected, there will be a total of 1,000,000 votes cast.  To ensure you can elect at least one director, you must ensure that someone else can elect at most four directors.  That is, you must have enough votes so that, even if the others split their votes evenly among five other candidates, the number of votes your candidate gets would be higher by one.

Let x be the number of votes controlled by you, so that others control (1,000,000 - x) votes.  To elect one director:
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Solving, we find x = 166,666.8 votes, or 33,333.4 shares.  Because there are no fractional shares, we need 33,334 shares.
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